UNIVERSITY \ ~ Math 2200—!Spr|ng 2020 Department of
OF WYOMING ; T :2 I I ﬁl ' ot Mw
W . anlfi C p ‘ el

Quiz 6—Friday, March 13

A portion of the graph of the curve xy + 3x% + y3 = 13 is shown below.
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a) Check that the point (1,2) lies on the curve.
Also sketch the tangent line to the curve at
(1,2) on the graph provided.
12+ 3]1+2°= 13
o (1,2) lies on Yoo, urve .

b) Find the slope of the tangent line to the curve -
at the point (1,2).
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¢) Find an equation for the tangent line to the curve at the point (1,2).
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